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FUNCTION RAND(0X)

DATA IX/9473/

IX = IX *9473

IF(IX.LT.0) IX=1+(IX+2147483647)
FLT=IX
RAND=FLT*0.465661E-9

RETURN

END

FUNCTION NORMAL (DMEAN,SIGMA)
REAL NORMAL
DATA K/0/,PI/3.14159/
IF (K.EQ.1) GOTO 10
RONE=RAND (0X)
RTWO=RAND (0X)

ZONE=SQRT (-2*ALOG (RONE) ) *COS (2*PI*RTWO)
ZTWO=SQRT (-2*ALOG (RONE) ) *SIN (2*PI*RTWO)

NORMAL=ZONE*SIGMA+DMEAN
K=1
RETURN
NORMAL=ZTWO*SIGMA+DMEAN
K=0
RETURN
END
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10

FUNCTION CSD(NDF,DMEAN, SIGMA)
REAL NORMAL
CSD=0.
DO 10 I=1,NDF
CSD=CSD+(NORMAL (DMEAN, SIGMA) **2)
RETURN
END

FUNCTION TDIS (NDF,DMEAN, SIGMA)
REAL NORMAL
CSD=0.
DO 10 I=1,NDF
CSD=CSD+(NORMAL (DMEAN, SIGMA) **2)
RCSD=SQRT (CSD/NDF)
TDIS=((NORMAL (DMEAN,SIGMA))/RCSD)
RETURN
END

176



17

FUNCTION WEIBUL (ALPHA,BETA)

R=RAND (0OX)

WEIBUL=BETA* (-ALOG(R)) **(0.1/ALPHA)
RETURN
END



/ /ZERENT44
/

JOB CLASS=N,MSGLEVEL~(1,1) , TYPERUN=HOLD
EXEC FORTVCLG, TIME=100,GOREGN=2000K

//FORT.SYSIN DD

REAL NORMAL

COMMON Z (200) ,0BS1 (200) ,0BS2(200) ,AS11 (200) ,AS21 (200)
COMMON OBSA1(200) ,0BSA2 (200) , SSUML (100) ,0BS (200)
COMMON OBSAI1(200) ,OBSAI2(200) ,OBSAI3 (200) ,0BSAT4(200)
COMMON OBSATS (200) ,OBSAI6(200) ,SSUM2 (200)

COMMON XL1(200) ,XB1(200) ,511(200) ,BS11(200) ,0BSUL (200)
COMMON XL2(200) ,XB2(200) ,521 (200} ,BS21 (200) ,0BSU2 (200)
COMMON SSUMIS8 (200) , SSUMI9 (200)

COMMON XBC1,XBC2,AAl,BB1,BB2,AA2,CC1,CC2,DD1,DD2

SET SIZE OF POPULATION

N1=40
N2=40
AN1=40.
ANZ=40.
MI=N1+1
NNE=NL-HN2

SET INITIAL COUNTER OF F-TEST

RF1=0.
RF2=0.

SET INITTAL COUNTER OF LEVENE TEST : WO

RWO1=0.
RW02=0.

SET INITIAL COUNTER OF MODIFILED LEVENE TEST : W50

aQQ

RW501=0.
RW502=0.

SET INITIAL COUNTER OF MODIFILED LEVENE TEST : W10

RW101=0.
RW102=0.

SET INITIAL COUNTER OF MODIFILED LEVENE TEST : W20

RW201=0.
RW202=0.

SET INITIAL COUNTER OF JACKKNIFE TEST

RJ1=0.
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Qo

SET INITIAL COUNTER OF LAYARD CHI-SQUARE TEST

1048

1046

1008

1010

DO 1006 MN=1,1000

DO 1048 J=1,N1

DMEAN=100.

SIGMA=1.732

OBS (J) =NORMAL (DMEAN, SIGA)
DO 1046 J=M1,NN

DMEAN=0.

SIGMA=1.

NDF=3

OBS (J)=TDIS (NDF , DMEAN, SIGMA)
CONTINUE
DO 1008 J=1,N1

0BS1(J)=0BS{(J)
CONTINUE
DO 1010 J=ML, NN

pP=4.

WE=SQRT (P)

OBS2 (J) =WE*OBS (J)
CONTINUE

CHREAREKRAKKKEAKEKXIXXIARERELRLKKIKEXKEKKEKKKXIKKIKKKKRLKKXKKKKKKKKKKKKK

C

CALCULATE F-STATISTIC

CAERREAKKEREKKKKXIKAEKKKARKRREXLKLEXKEXXKKKIAKKKIKAXIKXKKKKK KKK XXX KK KK

100

102

SuM1=0.
SuM11=0.
SuM2=0.
SuM22=0.
DO 100 J=1,N1
SUM1=SUM1+OBS1 (J)
SUML1=SUML1+(OBS1 (J) **2)
SMEAN1=SUM1/AN1
VAR1=SUM11-AN1* (SMEAN1**2)
VARX=VAR1/ (AN1-1.)
DO 102 J=M1,NN
SUM2=SUM2-+0BS2 (J}
SUM22=SUM22+(0BS2 (J) **2)
SMEAN2=SUM2,/AN2
VAR2=SUM22-AN2* (SMEAN2**2)
VARY=VAR2/ (AN2-1.)
FCAL=VARX/VARY
IF (FCAL.GT.2.332.0R.FCAL.LT.0.429) RF1=RF1+1
IF (FCAL.GT.1.885.0R.FCAL.LT.0.531) RF2=RF2+1
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Chhkkkrk KA KKRKKIKKKXKRKKKKKKKKKKIKKKKIARKHIIKKK KKK KKKKIIKRKXIAKKKKXKXX

c

CALCULATE MODIFILED LEVENE TEST : W50

Chkkkkkkkkkkkkkkkkkikkkkkhhkhhkkkkkkikkkkkhkikkkhkkkhkhkkkkikkkkkkxkikhkkkkk

13

14

16

17

19

20

01=0.
02=0.
03=0.
04=0.
NI1=N1-1
DO 13 J=1,NI1 -
I1=N1-J
DO 13 I~1,I1
IF (0BS1 (L) .LE.OBS1(I+1)) GOTO 13
TEMP=0BS1 (L) ‘
OBS1 (L) =0BS1 (L+1)
OBS1 (I+1) =TEMP
CONTINUE
P1=0BS1(N1/2)
P2=0BS1( (N1/2)+1)
AMED1=(P1+P2) /2.
NI2=NN-1
DO 14 J=M1,NI2
I2=NNHTL-J
DO 14 141,12
IF (OBS2(L) .LE.OBS2(L+1)) GOTO 14
TEMP=0BS2 (L))
0BS2(L)=0BS2 (L+1)
OBS2 (L+1) =TEMP
CONTINUE
S1=0BS2 (N1+ (NNHV1) /2)
S2=0BS2( (N1+(NN-N1) /2)+1)
AMED2=(51+82) /2.
DO 16 I=1,Nl
OBSA1 (I)=ABS (OBS1 (I)-AMED1)
01=01+0BSA1 (I)
ZME1=01/AN1
DO 17 I=ML,\N
OBSAZ2 (I)=ABS (OBS2 (I)~AMED2)
02=02+0BSA2(I)
ZME2=0)2/AN2.
ZZME=(Q14Q2) / (AN1+AN2)
DO 19 I=1,N1
05=(0BSAL (I)-ZME1) **2
03=03+05
DO 20 I=M1,NN
Q6=(OBSA2(I)-ZME2) **2
04=04+06
Q7=(Q3+04) / (AN1+AN2-2.)
Q8=AN1* (ZME1-ZZME) **2+AN2* (ZME2-ZZME) %2
W50=08/07
IF (W50.GT.6.92) RW501=RW501+1
IF (W50.LT.3.94) RW502=RW502+1



ChEAAIKXKKKIKEKKKRKKKKKKRKIKRKKKRKKKERKAKKKRKAKRKKKKKRKKKRXKK KKKk Kk kkkkkkkkk

(o

CALCULATE LEVENE TEST : WO

CAERKIKKKKKIKKKKKKKRKIKKKKKKKKIRKK KKK KK IKKKKAKKKKIKRKKKRKKK KKK KKK kk kA kK

23

26

27

29

30

E1=0.

E2=0.

E3=0.

E4=0.

SUMI1=0.

DO 23 J=1,N1
SUMI1=SUMI1+OBS1 (J)

CONTINUE

AMEND1=SUMI1/AN1

SUMI2=0.

DO 24 J=M1,NN
SUMI2=SUMIL2+0BS2 (J)

CONTINUE

AMEND2=SUMI2/AN2

DO 26 I=1,N1
OBSAI1(I)=ABS(0OBS1(I)-AMEND1)

El1=E1+OBSAI1(T)

ZMEI1=E1/AN1

DO 27 I=M1,NN
OBSATI2(I)=ABS (OBS2 (I)-AMEND2)

E2=FE2+0BSAI2(I)

ZMET2=E2/AN2

ZZMET=(E1+E2) / (AN1+AN2)

DO 29 I=1,N1
E5=(OBSATL(I)-ZMETI1) **2

E3=E3+E5

DO 30 I=M1,NN
E6=(OBSAI2{I)-ZMEI2) **2

EA=FA+E6 A

ET=((E3+E4) / (AN1+AN2-2.)

E8=AN1* (ZMEI1-ZZMET ) **2+AN2* (ZMEI2-ZZMET ) **2

WO=E8/ET

IF (W0.GT.6.92) RWOL=RWOL+1

IF (WO.GT.3.94) RWO2=RWO02+1

Ckkkkkkkkkkkkdk Rk k kR kR kA kKA KK KKK IR KKK H Kk gk Ak K Kok Kk Kok ok Kok ok Kok sk Kok ook ke ok sk ok

c

CALCULATE MODIFILE LEVENE TEST : W10

CERAKKARKRKAKKEKK KKK KKK KKKKKKXKKRKIKKKARKLRKK KK KKK ERKKKKK KKK XK KKK KKk K

T1=0.

T2=0.

T3=0.

T4=0.

SUMI3=0.

NI3=N1-1

DO 33 J=1,NI3

I3=N1-J
DO 33 I~1,13
IF(0BS1(L) .LE.OBS1(L+1)) GOTO 33

TEMP=0BS1 (L)
0BS1(L)=0BS1 (L+1)
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33

34

35

36

37

38

39

182

OBS1 (I+1) =TEMP
CONTINUE
INT1=N1(0.1
T11=INT1+1
I12=N1-INT1
DO 34 J=T11,112
SUMI 3=SUMI3+0BS1 (J)
CONTINUE
ANT1=T12-T11+1
AMED3=SUMI3/ANT1
NI4=NN-1
DO 35 J=M1,NI4
T4=NNHIN1-J
DO 35 L=M1,I4
IF (OBS2(L) .LE.OBS (I+1)) GOTO 35
TEMP=0BS2 (L)
OBS2(L)=0BS2(L+1)
OBS2(L+1)=TEMP
CONTINUE
INT2=N2*0.01
T21=MI+INT2
I22=\N-INT2
SUMI4=0.
DO 36 J=I121,1I22
SUMI4=SUMI4+0BS2 (J)
CONTINUE
ANT2=I22-I21+1
AMED4=SUMT4/ANT2
DO 37 I=1,N1
OBSAI3 (I)=ABS (OBS1(I)-AMED3)
T1=T1+OBSAI3 (1)
ZMEI3=T1/AN1
DO 38 I=M1,NN
OBSAT4(I)=ABS(0BS2(I)-AMED4)
T2=T2+OBSAT4(I)
ZMET4=T2/AN2
Z2ME1=(T1+T2) / (AN1+AN2)
DO 39 I=1,N1
T5=(OBSAI3 (I)—ZMEI3) **2
T3=T3+T5
DO 40 I=M1,NN
T6=(OBSAT4 (I) -ZMET4) **2
T4=T4+T6
T7=(T3+T4) / (AN1-+AN2-2.)
T8=AN1* (ZMEL3-ZZME1 ) **2+AN2* (ZMET4~ZZME]L ) **2
W10=T8/T7
IF (W10.GT.6.92) RW101=RW101+1
IF (W10.GT.3.94) RW102=RW102+1
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Cnnnnuxxnuinnnnxnnnnxnunnn RARRBABARRARRRERRIKIK KR KKK K kKK Kk ke k kK ko kk k

€

CALCULATE MODIFILED LEVENE TEST : W20

CREARRIKKIKEIKKKKKKEKR KK KK KKK KA KK KKk AR e ke e ks e e ke ek sk ok sk sk ok kkkkkkkkkkkk

43

45

46

47

43

V1=0.
V2=0.
V3=0.
V4=0.
SUMI5=0.
NIS=N1-1
DO 43 J=1,NI5
I5=N1-J
DO 43 1~1,15
IF(0BS1(L) .LE.OBS1 (I+1)) GOTO 43
TEMP=0BS1 (L)
OBS1(L)=0BS1 (L+1)
0BS1 (L+1) =TEMP
CONTINUE
INT3=N1*0.2
I13=INT3+1
T14=N1-INT3
SUMI5=0.
DO 44 J=I13,I14
SUMI5=SUMIS+OBS1 (J)
CONTINUE
ANT3=T14-T13+1
AMED5=SUMI5/ANT3
NI6=NN-1
DO 45 J=M1,NI6
I6=NNHN1-J
DO 45 1=M1,I6
IF(OBS2(L) .LE.OBS2(L+1)) GOTO 45
TEMP=0BS2 (L)
OBS2 (L)=0BS2 (L+1)
OBS2 (L1) =TEMP
CONTINUE
INT4=N2*0.2
123=M1+INT4
124=NN-INT4
SUMI6=0.
DO 46 J=I23,124
SUMI6=SUMI6+0BS2 (J)
CONTINUE
ANT4=124-123+1.
AMED6=SUMI6/ANT4
DO 47 I=1,N1
OBSAI5 (I)=ABS (0OBS1 (I)-AMED5)
V1=V1+OBSAI5(I)
ZMES=V1/AN1
DO 48 I=M1,NN ;
OBSAI6(I)=ABS (OBS2(I)-AMEDS
V2=V2+OBSAI6 (I)
ZME6=V2/AN2
ZZME2=(V1+V2) / (AN1+AN2)
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DO 49 I=1,NL
V5=(OBSAI5 (1) -ZME5) **2
49 V3=V3+V5
DO 50 I=M1,NN
V6=(OBSAI6 (I)-ZMES) **2
50 V4=v4a+ve
V7=(V3+V4) / (AN1+AN2-2.)
VB=AN1* (ZMES-ZZME2) **2+AN2* (ZME6~ZZMED) **2
W20=V8/V7
IF (W20.GT.6.92) RW201=RW201+1
IF (W20.GT.3.94) RW202=RW202+1

Chkkkkkkkk RERRR KKKk K K Kk e K e vk de ke ok de ke ok RRRXRRRX R KKK KKKk Kk kkkkkkk ki

€ CALCULATE JACKKNIFE TEST
CRERAARIIIIHKIKIIIKKIKRKR KKK IKIIKHIHIKKHK KIS KIHRI IR KKK KKK KKK
G1=0.
G2=0.
G3=0.
G4=0.
SUMI7=0.
SUM11=0.
SUM22=0.
DO 60 J=1,N1
SUMI7=SUMI7+0OBS1 (J)
60 CONTINUE
DO 22 J=1,N1
SSUMI8 (J3)=0.
22 CONTINUE
DO 62 J=1,N1
XL (J) =SUML7-0BSL (J)
XB1(J}=X11(J) / (AN1-1.)
DO 64 1=1,N1
IF (L.EQ.J) GOTO 64
SSUMI8 (J)=SSUMI8 (J)+( (0BS1 (L) ~XB1 (J) ) **2)
64 CONTINUE
S11(J)=SsUMI8(J) / (AN1-2.)
BS11(J)=AL0G10(S11(J) )
AS11(J)=(AN1-1.)*BS11 (J)
62 CONTINUE
EM1=SUMI7/AN1
DO 66 J=1,N1
SUML1=SUML1+(OBS1 (J) -EML) **2
66 CONTINUE
S12=sUM11/ (AN1-1.)
BS12=A10G10(S12)
ALS1=AN1*BS12
DO 68 J=1,N1
OBSU1 (J)=ALS1-AS11 (J)
68 G1=G1+OBSUL (J)
UME1=G1/AN1
SUMI8=0.
DO 70 J=M1,NN
SUMI8=SUMI8+0OBS2(J)
70 CONTINUE




25

74

72

76

78

80

82

DO 25 J=M1,NN
SSUMI9 (J)=0.
CONTINUE
DO 72 J=M1,NN
XL:2(J) =SUMI8-0BS2(J)
XB2(J)=XL2(J) / (AN2-1.)
DO 74 1L=M1,NN
IF (L.EQ.J) GOTO 74
SSUMI9 (J) =SSUMI9 (J) +(0BS2 (L) ~XB2 (J) ) **2
CONTINUE
S21(J)=SSUMI9(J) / (AN2-2.)
BS21(J)=AL0G10(S21 (J))
AS21(J)=(AN2-1.) *BS21 (J)
CONTINUE
EM2=SUMIS8/AN2
DO 76 J=M1,NN
SUM22=SUM22+ (OBS2 (J) ~EM2) **2
CONTINUE
522=SUM22/ (AN2-1.)
BS22=A10G10(S22)
ALS2=AN2*BS22
DO 78 J=M1,NN
OBSU2 (J)=ALS2-AS21 (J)
G2=G2+0BSU2 (J)
UME2=G2/AN2
UUME= (G1+G2) / (AN1+AN2)
DO 80 I=1,N1
G5=(OBSUL (I) -UMEL) **2
G3=G34G5
DO 82 I=Ml,NN
G6=(0BSU2 {I)-UME2) **2
G4=G4+G6
G7=(G3+G4) / (AN1+AN2-2. )

GB=RN1* (UME1-UUME) **2+AN2* (UME2-UUME) **2

ACK=G8/G7
IF (ACK.GT.6.92) RJ1=RJ1+1
IF (ACK.GT.3.94) RJ2=RJ2+1

Cxlx KR KKk kK Kk ok ke kkkkk ko kkk Kk k ®kkk 3.2, 3.4 KRR R K ok K ke ok ke ok

C CAICULATE LAYARD CHI-SQUARE

Canxxnnunnnn xX

85

$ 3.3 7.3 KKk *kk * Kok Kk kK kkk X Rk kkk:

UM1=0.
UM11=0.
CC1=0.
CC2=0.
DO 84 J=1,N1
UM1=UM1+0BS1 (J)
CONTINUE
AME1=UM1/AN1
DO 85 J=1,N1
UML1=UM11+(OBS1 (J) -AMEL) *%2
CC1=CC1+(0BS1 (J) -AMEL) **4
CONTINUE
CS12=UM11/ (AN1-1.)
CCS12=AL0G(CS12)
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87

umM2=0.
uM22=0.
DO 86 J=Mi, NN
UM2=UM240BS2 (J)
CONTINUE
AME2=UM2/AN2
DO 87 J=M1, NN
UM22=UM22+(OBS2 (J) -AME2) **2
CC2=CC2+(0BS2(J) ~AME2) **4
CONTINUE
CS22=UM22/ (AN2-1.)
CCS22=ALOG(CS22
ON=(AN1-1. ) *CCS12+(AN2-1.) *CCS22
TON=ON/ (ANL+AN2-2.)

SED=(AN1-1.) * { (CCS12-TON) **2)+ (AN2-1.) * ( (CCS22-TON) **2)

DD1=(AN1+AN2) * (CC1+CC2)
DD2=(UM11-+HUM22) **2
GRAM=(DD1/DD2)-3.

ANB= (AN1+AN2) /2.
TOUS=2.+(1.-(1./ANB) ) *GRAM
SPRIM=SED/TOUS

IF (SPRIM.GT.6.635) RC1=RC1+l
IF (SPRIM.GT.3.814) RC2=RC2+1

GOOOOOEOO

CALCULATE PROBABILITY OF REJECTION FOR EATCH TEST

HF1=RF1/1000.
HF2=RF2/1000.
HW501=RW501/1000.
HW502=RW502/1000.
HWO1=RW01/1000.
HWO2=RW02/1000.
HW101=RW101/1000.
HW102=RW102/1000.
HW201=RW201/1000.
HW202=RW202/1000.
HJ1=RJ1/1000.
HJ2=RJ2/1000.
HC1=RC1/1000.
HC2=RC2/1000.

186



187

o N5 SPTRES B7S oS 07NN A R S 6 Rk i e e AR S v N3RS A S
G PRINT OUTPUT OF THIS EXPERIMENT
Cf’ll”lflllll'llll’flf’l'II""II'I'IIIIII’III”!f"l’l’lf’l'lf""l
C
WRITE (6,1056) HFl,HWSOl,HWOl,HWlOl,HWZOl,HJl,HCl

1056 FORMAT(//,10X, 'PROBABILITY OF REJECTION NUMBER FOR EACH

* TEST : ALPHA = 0.01',

» //,30%," F-TEST :F  =",F10.5,

* /+30X, "MODIFILED LEVENE TEST : W50 = *,F10.5,

i /,30X,' LEVENE TEST : WO = ',F10.5,

* /30X, '"MODIFILED LEVENE TEST - W10 = ',F10.5,

* /,30X, '"MODIFILED LEVENE TEST - W20 = ',F10.5,

% /+30X, ' JACKKNIFE TEST :Jd = "',F10.5,

= /,30X, 'LAYARD CHI-SQUARE TEST : ¢ ="',F0.5)

WRITE (6,1110) HFZ,HWSOZ,HWOZ,HW102,HW202,HJ2,HC2

1110 FORMAT (//,10X, ' PROBABILITY OF REJECTION NUMBER FOR EACH

* TEST : ALPHA = 0.05',

* //,30%," F-TEST +F  =",F10.5,

% /+30X, "MODIFILED LEVENE TEST - W50 = ' F10.5,

* /.30X,' LEVENE TEST : WO ="',F10.5,

: /30X, 'MODIFILED LEVENE TEST - W10 = ',F10.5,

* /30X, '"MODIFILED LEVENE TEST - W20 = ',F10.5,

X / +30X, ' JACKKNIFE TEST :Jd  =",F10.5,

® /,30X, 'LAYARD CHI-SQUARE TEST - ¢ ="',F10.5)
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